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Problem 1 (8 points): 
Grader:  2 point per correct answer; minimum of 1 point for attempting all four problems. 
 

A. (5− 1)  ÷  1−  (9− 1)  ÷  2 = __0___ 

B. (10+ 10)  ÷  5 +  8 −  (4+ 3) = __5___ 

C. (7+ 9− 4)  ÷  (6÷ 3÷ 1) = __6___ 

D. 4×5÷ (1− (5− 5)×4) = ___20_

Problem 2 (4 points): 
Grader:  4 for correct answer; 1 point if incorrect but attempted. 
A man weighing 90 kg and his two children, each weighing 35 kg, want to cross a river. They have one boat 
available to cross and each one of them can row. The boat can carry at most 90 kg. What is the minimum 
number of crossings (i.e. going from one side of the river to the other side – not a round trip) that need to be 
made to get all three people from one side of the river to the other? 
 
Answer: __child&child across; child return; man across; child return; child&child across = 5____  
 
Problem 3 (21 points): 
Grader:  3 points per correct answer; minimum of 1 point. 
The rectangle below is divided into perfect squares, two of which have lengths of 7 and 8. Find the lengths of 
the remaining squares (Note:  The figure is not drawn to scale). 

 

Answer: 
A = 1 
B = 9 
C = 10 
D = 15 
E = 4 
F = 14 
G = 18 
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Problem 4 (5 points): 
Grader:  5 points for correct answer; 1 point if incorrect but attempted. 
A regular octagon shares a side with a square, and the perimeter of the octagon is 64 cm what is the area of 
the square? 
 
Answer: ___64_cm2__  
 
Problem 5 (12 points): 
Grader:  2 point per correct letter; minimum of 2 points if attempted. 
 
Solve the puzzle by finding the values of W, R, N, G, T and I: 
(Hint: if you get stuck, try substituting remaining numbers to see if a combination works) 
 
 

 W R O N G 

+ W R O N G 
 R I G H T  

You are given 
that: 
O = 0 (zero) 
H =  8 

Answer: 
W = 3 
R = 7 
N = 9 
G = 1 
T = 2 
I = 4 

 

 
 


